Fort Bend County Tabulation Bid 12-062

Construction of Falcon Landing Blvd from Spring Green to Gaston Road, Gaston Road from Falcon Landing Blvd to 3,600 LF North of Falcon Landing Blvd and Greenbusch Road from Gaston Road to 3,100 LF East of Gaston Road

Awarded 10/1/12: Allgood Construction Company Funding: Mobility

Vendor	Bid	Completion Time in Calendar Days
Allgood Construction Stafford	\$4,064,840.03	270
Angel Brothers Baytown	\$4,123,486.75	275
Conrad Construction Houston	\$4,396,374.50	270
Menade, Inc. Kingwood	\$4,445,517.50	Left Blank
Metro City Construction Pasadena	\$4,718,670.50	270
SER Construction Pasadena	\$4,892,630.00	Not provided
Durwood Greene Construction Stafford	\$5,245,139.38	273

BID TABLUATION

Project Name: FALCON LANDING BLVD. FROM SPRING GREEN TO GASTON RD., GASTON RD., FROM FALCON LANDING BLVD TO 3.600 LF NORTH OF FALCON LANDING BLVD. AND GREENBUSCH

FROM GASTON RD. TO 3,100 LF EAST OF GASTON RD.

FBC Mobility Project: 703

FBC Bid No.: 12-062

Bid Opening Date:

09/20/12

9/24/12

N. STRANGE

Ava of Three Low Bidders Conrad Construction Co., Ltd. Menade, Inc Metro City construction, L.P. SER Construction Partners, LLC Durwood Greene Construction Co. Engineer's Estimate Allgood Construction Company, Inc. Angel Brothers Engerprises, Ltd. \$4,487,503. Bid Total = \$4,624,291. \$4,172,353 Bid Total = \$3,966,704 \$3,859,328 Bid Total Bid Total \$4,142,095 \$4,991,611. **Bid Total** \$3,899,299 SPEC ITEM NO UNIT QUANTIN UNIT PRICE AMOUNT AMOUNT AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE AMOUNT UNIT PRICE UNIT PRICE UNIT PRICE UNIT PRICE AMOUNT AMOUNT UNIT PRICE AMOUNT SECTION 1 - SITE PREPARATION AND EARTHWORK DRAWINGS FORT BEND COUNTY PRECINCT 3 PROJECT SIGN FACH \$700.0 \$722.8 \$2,168 sann \$750.0 VIDEO RECORDING OF CONSTRUCTION 1.5 1.00 \$1.500 \$700.0 \$700 \$525.00 \$525 5825 \$750 \$500.00 \$500.0 \$500.00 \$500.0 \$1,000. \$1,000 \$1,200.0 \$825.0 \$1,200.0 MOVE AND RELOCATE OR DISPOSE OF TRAFFIC \$2,000. \$2,000 \$2,091.6 \$2,091 \$1,575.00 \$1.575 52 200 \$2,500. \$2,500 \$500.0 \$500 (\$500.0 \$500 \$3,000.0 \$3,000 \$3,000 \$2,200. REMOVE AND DISPOSE OF EXISTING CONCRETE \$5,170.0 \$9,400 \$4,136. \$7,266 \$9.45 \$8,883 (\$7,755 S14 100 0 \$10.0 S7.7 58.7 \$5.5 \$10.00 \$4.50 \$4,230.0 \$4.40 \$15.0 REMOVE AND DISPOSE OF EXISTING CONCRETE \$950 5950 \$10.0 \$8.2 S783 \$10.0 \$10.00 54 5 \$7.0 \$15.0 \$1,425 (FMOVE AND DISPOSE OF EXISTING CONCRETE EACH \$800 \$279.1 \$262.50 \$900.0 \$200.0 \$800. \$1,116. \$1,050.0 \$1,400. \$200,00 \$1,200 0 \$200.0 \$225.0 \$350.0 \$100.00 \$50.0 \$300.00 PEDESTRIAN RAMPS ALL TYPES
REMOVE AND DISPOSE OF EXISTING 6" CONCRETE CUR 0104 780.0 \$1,950 \$780.0 \$780.0 \$1,560 0 \$234.0 \$2.5 \$1.00 \$1.0 \$2.00 \$0,30 \$1.00 \$5.0 ALLTYPES
REMOVE AND DISPOSE OF EXISTING ASPHALITIC 21.100.0 \$105,500 \$2.4 \$2.10 \$2.50 \$58.025 \$5.00 \$5.0 \$2.7 \$3.00 \$3.50 \$8.50 SURFACE AND BASE MATERIAL ALL DEPTHS
REMOVE AND DISPOSE OF EXISTING PIPE \$10.50 030 C \$15.0 \$13,950 \$10 \$9.458 \$9,300 \$10.00 \$9,300 \$20.00 S18 600 0 \$11.00 \$10,230 \$16,740.0 \$10. \$18.0 (18" TO 36" DIAMETER) ALL MATERIALS, ALL DEPTHS REMOVE AND DISPOSE OF EXISTING PIPE 30.0 \$25.0 \$750. \$18.0 \$540 (\$21.00 \$630.0 \$390. \$20.0 \$600.0 \$50.00 \$1,500 \$30.0 \$900 (\$38.00 \$1 140 \$50.0 \$1.500.0 \$13.0 42" TO 72" DIAMETER) ALL MATERIALS, ALL DEPTHS REMOVE AND DISPOSE OF EXISTING INLET ALL TYPES, \$250.0 \$300 \$458.3 \$458.3 \$525.00 \$525 (\$500.0 \$200 \$500.0 \$300.0 \$350.0 \$500.0 \$500.0 \$250 M \$200.0 \$500.0 REMOVE AND DISPOSE OF EXISTING MANHOLE ALL \$458.33 \$458.3 \$525.00 S525 (\$200. \$400.0 \$350.00 \$500. \$500.0 \$400.00 \$200.00 \$750.0 YPES, ALL DEPTHS REMOVE AND DISPOSE OF EXISTING SAFETY END \$2,000. \$458.33 \$5,000.0 \$525.00 \$5,000 \$2,250 \$2,500 \$200.0 \$4.583.3 \$5,250. \$350.00 \$3,500 \$500.0 \$500.00 \$225,00 \$250.00 \$400.0 \$4,000.0 TREATMENT ALL TYPES, ALL DEPTHS
REMOVE AND DISPOSE OF EXISTING RIPRAP ALL TYPE 0104 \$750. \$225 \$15.0 \$14.00 \$20.0 \$10.00 \$11.0 \$25.00 CLEARING AND GRUBBING 0102 \$1,645.0 \$2,400.0 \$400.0 \$2,140.00 \$485.00 \$2,050.00 \$4,500.00 \$1,500.00 \$2,400,00 0110 ROADWAY EXCAVATION CY 25.830.0 \$103,320 \$6.57 \$169 703 \$5.7 \$147 747 6 \$219,555 \$142,065. \$206,640,0 \$167.895 (\$167.895 \$4.0 \$8.50 \$8.00 \$6.50 \$6.50 \$12.00 ROADSIDE DITCH REGRADING ALL WIDTHS ALL DEPTHS 7.210.0 \$72.100 \$5.50 \$5.25 \$37,852 \$55,877 \$25,235 \$36,050 \$36,050 \$28,840 \$27,037. \$7.7 \$3.7 SUBTOTAL FOR SECTION 1 - SITE PREPARATION AND EARTHWOR \$802,162.5 \$356,770 \$455,960 (\$455,611,5 \$538 786 \$452,728.9 \$497 027 5405 451 \$778.350.0 SECTION 2 - SUBGRADE AND PAVING HYDRATED LIME (SLURRY APPLIED) FOR STABILIZATION \$73,600 \$152.78 \$70,278.8 \$73,600 460.0 \$70.380 \$69,460. \$4,600 0 \$71,300.0 \$154.3 \$71,001 \$160.00 \$153.00 \$151.00 \$10.00 \$155.00 \$160.00 \$150.00 ELV ASH EOD STABILIZATION \$85,400 \$54.0 \$68,320. \$12,200.0 \$70.00 \$56.75 \$56.00 \$10.00 \$67,50 \$74.00 \$70.00 20 0223 LIME-FLY ASH STABILIZED SUBGRADE, 2 MANIPULATION 49,500.0 \$103,950 \$1.9 596 525 \$123,750 \$123,750.0 \$2.50 \$2.1 \$2.00 \$2.00 \$5,00 \$2.50 \$2.50 HMAC BASE COURSE (BLACK BASE), 6" DEPTH 1.850 0250 S76 6 \$141,839.5 S84 0 \$147 075 \$80,00 \$70.00 \$66.50 \$79.50 \$83.00 \$95,50 \$82.00 PRIME COAT FOR BASE COURSE 22 0310 GAL 1 950 0 \$48,750. \$3.1 53 1 \$6,142 \$8,482 \$3,900 \$1,950.0 \$10.725 (S11 115 \$6,825 \$25.00 \$6,181. \$1.00 \$4.3 \$2.0 \$5.50 \$3,50 0340 GAL 835.0 \$4.175 \$2.7 \$2 271 2 63.1 \$2,630.3 \$2.505 \$1.670 \$4 175 (\$2 922 5 \$2.830 \$3.757 \$5,00 \$3.00 \$4.50 HMAC TYPE "D" SURFACE COURSE 2" THICK TON 620.0 \$58,900 \$90.8 \$56 314 594 5 \$58,590 \$46 190 \$64 170 \$52,700 \$59.520.0 \$68,200 \$62,000 \$103.50 \$100.0 25 REINFORCED CONCRETE PAVEMENT, 8" DEPTH ALL 44.450.0 \$1 493 520 \$1,377,950 (\$1,711,325 \$1,778,000 \$36.0 1 600 200 \$33.20 \$1 475 740 \$33.60 \$35.00 \$31.0 \$32.00 \$1,422,400 \$38.50 \$40.00 \$38.0 REINFORCED CONCRETE PAVEMENT, HIGH EARLY 1,000.0 \$37.80 \$37,000.0 \$46,000 0 \$50,000. \$40.18 \$40.180.0 \$37,800. \$43,750. \$46,000 \$50,000.0 \$50.0 \$43.75 \$39.0 \$37.00 \$46.00 \$46.00 \$50.00 STRENGTH, 8" DEPTH AS APPROVED BY THE ENGINEER DRILLING & DOWELING INTO EXISTING PAVING WITH #5 375.0 \$10.0 \$3,750.0 \$7.9 \$2,985.0 \$7.8 \$2,955.0 \$3,000 0 \$3,000.0 \$10.00 \$3,750.0 \$10.00 \$3,750.0 \$20.00 S7 500 0 \$3,750.0 \$8.0 \$10.0 SMOOTH DOWEL BARS AT 18" CENTER TO CENTER AND 30" LENGTH 6" REINFORCED CONCRETE CLIRE 28 0530 25 375 563 437 \$2.50 \$2.50 \$2.00 \$2.00 \$2.0 \$3.00 4-1/2" THICK CONCRETE SIDEWALK, 5' WIDE SS 0530 11 660 \$174.900 \$19.00 \$15.7 \$247,775 \$233 200 \$248,358 \$15.00 \$21.30 \$23.00 \$20,00 \$21.25 \$20,00 \$25.00 SS 0530 PEDESTRIAN RAMP, TYPE 5 FA 14 \$14,000 \$1,062.5 \$14.875 \$787.5 \$11.025 \$16.800 \$16.800 \$14,000.0 \$16,800.0 \$700.0 59.800 \$16,800.0 \$1,000.0 \$1,200.0 51,200.00 \$1,200.0 \$1,200.0 SS 0530 EA 23.0 \$23,000 \$1,212.50 S27 887 \$787.5 S18 112 \$37,950 \$27,600 \$23,000.0 \$27,600.0 \$750.00 \$17,250 \$27,600.0 \$1,000.0 \$1,650.0 \$1,200.0 \$1,200.0 \$1,200.00 CONCRETE ESPLANADES, MEDIANS AND DIRECTIONA 600. \$45.0 \$27,000 \$52.2 \$31,350.0 \$57.7 \$34,650 \$54.00 \$32,400 \$45.0 \$27,000 \$50.0 \$44.00 \$26,400 \$38.00 \$30,000.0 \$50. SLANDS ZERO LOAD TRANSFER DEVICE PER DOW PIPELINE \$7,700. \$8,800.0 \$3,300. \$69.8 \$7.685 \$12.60 \$4,400. \$15,400. \$70.0 \$1,386 \$157.00 \$17,270 \$40.00 \$80.00 \$140.00 \$30.00 \$290.00 \$31,900.0 COMPANY REQUIREMENTS IRRIGATION SLEEVES, 4" DIAMETER SHCEDULE 40 PVC \$6,420 \$15.23 \$14.70 \$8,560 \$8.025 \$10,700 \$6,420 \$2,675 \$7,864 \$12.0 \$16.00 \$15.0 \$20.0 \$12.0 \$5.00 \$18.0 \$9,630.0 PIPE W/ END CAPS ELECTRICAL CONDUITS FOR FUTURE TRAFFIC SIGNAL \$28,000 \$15.16 \$21,224.0 \$15.23 \$22,750 \$23,100 \$21,322 \$19,600 \$14,000 \$16.50 \$20.00 \$16.25 \$14.00 \$10.00 \$14.00 \$14.00 \$19,600 INSTALATION SUBTOTAL FOR SECTION 2 - SUBGRADE AND PAVIN \$2,521,182.5 \$2,344,381,3 \$2,316,388.8 \$2,260,920.0 \$2,721,717. \$2,768,679.5 \$2,674,912.5 SECTION 3 - STORM WATER DRAINAGE SYSTEM TRENCH SAFETY SYSTEMS 5' TO 10' DEPTH Falcon 3.851 \$7,702 (\$0.50 \$1,925.5 \$0.26 \$1,001.2 \$962 \$3,851.0 \$3.851.0 \$3.851 \$385 \$1,925 \$0.50 Landing TRENCH SAFETY SYSTEMS, 10' TO 15' DEPTH Falcon 212 (\$530 \$1.05 \$222.6 \$318 (\$2,120.0 \$212 (\$0.10 \$212.0 \$2.5 \$1.00 \$1,00 REINFORCED CONCRETE PIPE, C76, CLASS III, RUBBER 1,892. \$50.00 \$94,600.0 \$50.3 \$95,224.3 \$45.00 \$85,140.0 \$50.00 \$94,600 \$56.00 \$105.952.0 \$68.0 \$128,656.0 \$50.00 \$94,600 (\$60.00 \$113,520.0 \$55.00 \$104,060 (GASKET - 24" DIAMETER INCLUSIVE OF INLET LEADS REINFORCED CONCRETE PIPE, C76, CLASS III, RUBBER 135.0 \$12,825.0 \$97.0 \$14,175 \$13,635.0 \$95.0 \$92,1 \$101.00 \$105.00 \$105.0 \$100.0 \$94.00 \$85.00 GASKET - 36" DIAMETER REINFORCED CONCRETE PIPE, C76, CLASS III, RUBBER \$158 63 \$35,000 200.0 \$160.0 \$32 000 S31.724 \$163.8 \$32,772. \$150.0 \$30,000. \$180.0 \$36,000. \$170.0 534 000 \$175.0 \$180.0 \$36,000.0 GASKET - 54" DIAMETER REINFORCED CONCRETE PIPE, C76, CLASS III, RUBBER 104 0 \$190.0 \$19,760 \$185.83 S19.325 \$192.4 \$20,016. \$19.760 S18.200 \$220.0 \$22,880.0 \$196.00 520 384 (\$186.00 \$19,344. \$175.0 \$200,0 GASKET - 60" DIAMETER
REINFORCED CONCRETE CULVERT, C76, CLASS III, \$26,100.0 450.0 \$22 500 0 \$50.9 S22.950 (\$24 750 0 \$50.0 \$46.20 520 790 0 \$21,375 \$59.0 \$68.0 \$51.00 \$58.00 \$55.00 UBBER GASKET - 24" DIAMETER \$65.00 ITEM DELETER ITEM DELETED \$75.00 S0.0 \$0.0 CORRUGATED METAL PIPE, PRE-COATED-GALVANIZED 0461 \$5,200.0 \$76.0 \$6,084 \$7,880.0 \$8,000 \$10,400.0 \$65.0 \$59.00 \$4,720. \$98.5 \$100.0 \$60.00 \$90.00 \$130.0 (16 GAUGE) - 30" DIAMETER CORRUGATED METAL PIPE, PRE-COATED-GALVANIZED \$12,465 \$10,350 \$10,350 \$117.0 \$10,532 \$122.5 \$115.00 \$115.0 \$125.00 \$90.00 \$138.5 \$115.00 \$180.00 \$16,200.0 (16 GAUGE) - 48" DIAMETER JACKING AND BORING PIPE, 24" DIAMETER 0431 105.0 \$11,033.4 \$68.25 \$120.00 \$140.00 \$135.00 \$117.00 \$130.00 \$100,00 \$200.0 47 ITEM DELETED ITEM DELETED \$0.0 \$0.0 \$130.0 ITEM DELETED ITEM DELETED 50.00 Sn r SO C \$0.0 SO C \$140.0 SAFETY END TREATMENT - TYPE II, (3:1) (CD-SPR) - 24 \$1,500.0 \$2,400 (\$2.222 \$1.034.2 \$2,068 \$2,100 \$1,000.0 S2.000.0 \$1,400 (\$3,000 \$750.0 \$1,500.0 \$1,050 DIAMETER RCP FOR CULVERT CROSSINGS OF SAFETY FND TREATMENT .. TYPE II (6:1) (PD.SPR) .. 2. \$16,800 0 \$14,000.0 \$1,200.00 \$1,350.00 \$1,500.00 \$1,000.00 \$1,800,00 \$1,600.00 \$1,000,00 METER RCP FOR CULVERT CROSSINGS OF

DRIVEWAYS AND INTERSECTING STREETS

BID TABLUATION

Project Name:
FALCON LANDING BLVD. FROM SPRING GREEN TO GASTON RD., GASTON RD. FROM FALCON LANDING BLVD TO 3,600 LF NORTH OF FALCON LANDING BLVD. AND GREENBUSCH FROM GASTON RD. TO 3,100 LF EAST OF GASTON RD.
FBC Mobility Project:
FBC Bid No.:

12-062

Bid Opening Date:
09/20/12

Bid Opening Date:

09/20/12

															\$2 32 <u>\$2</u>				250			
					Engineer's Estimate Bid Total = \$4,172,353.5		Avg of Three Low Bidders 50 Bid Total = \$3,966,704.00		Allgood Construction Company, Inc. Bid Total = \$3,859,328.89		Angel Brothers E	ngerprises, Ltd. \$3,899,299.00	Conrad Construction Co., Ltd. Bid Total = \$4,142,095.50		Menade Bid Total =	\$4,139,094.50	Metro City construction, L.P. Bid Total = \$4,487,503.50				Durwood Greene C	\$4,991,611.88
BID ITEM NO	SPEC ITEM NO	DESCRIPTION	UNIT	QUANTIY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
51	0471	PRECAST CONCRETE SHALLOW MANHOLE W/ DEPTH LESS THAN 5' Gaston	EA	4.00	\$1,200.00	\$4,800 00	\$1,980.00	\$7,920.00	\$1,890.00	\$7,560 00	\$1,800.00	\$7,200 00	\$2,250.00	\$9,000 00	\$2,000.00	\$8,000 00	\$2,460.00	\$9,840.00	\$2,000.00	\$8,000 00	\$2,500.00	\$10,000.00
52	0471	PRECAST CONCRETE MANHOLE W/ DEPTH GREATER THAN 5' AND LESS THAN 10' Gaston	EA	4.00	\$1,500.00	\$6,000.00	\$2,205.00	\$8.820.00	\$2,415.00	\$9,660 00	\$1,900.00	\$7,600.00	\$2,300.00	\$9,200 00	\$2,500.00	\$10,000.00	\$2,700.00	\$10,800.00	\$2,400.00	\$9,600.00	\$3,300.00	\$13,200.00
53	0471	PRECAST CONCRETE MANHOLE W/ DEPTH GREATER	EA	1.00	\$1,700.00	\$1,700.00	\$5,058.33	\$5,058.33	\$4,725.00	\$4,725.00	\$5,600.00	\$5,600.00	\$4,850.00	\$4,850.00	\$3,500.00	\$3,500.00	\$6,100.00	\$6,100.00	\$6,400.00	\$6,400.00	\$3,500.00	\$3,500.00
54	SS 0471	THAN 10' AND LESS THAN 15' Gaston PRECAST CONCRETE LARGE DIAMETER MANHOLE W/	EA	3.00	\$2,200.00	\$6,600.00	\$4,928.33	\$14,784 99	\$5,460.00	\$16,380 00	\$4,475.00	\$13,425.00	\$4,850.00	\$14,550.00	\$3,600.00	\$10.800 00	\$6,100.00	\$18,300.00	\$5,400.00	\$16,200.00	\$8,000.00	\$24,000 00
		DEPTH GREATER THAN 5' AND LESS THAN 15' Falcon Landing				animal Control		30.00				(2000)		74.00		Alexandre de la constantina della constantina de	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, , , , , , ,	KS TO MEDICAL PORTION	74/05000	0.034.51/40.0403.03
55	SS 0471	PRECAST CONCRETE MANHOLE FOR CONNECTION TO DUAL 24" DIAMETER PIPES ALL DEPTHS	EA	2.00	\$2,500.00	\$5,000 00	\$4,513.33	\$9.026 66	\$3,990.00	\$7,980 00	\$4,700.00	\$9,400.00	\$4,850.00	\$9,700 00	\$3,000.00	\$6,000 00	\$6,100.00	\$12,200 00	\$4,000.00	\$8.000 00	\$5,000.00	\$10,000 00
56 57	0472 0472	STANDARD TYPE "C" INLET STANDARD TYPE "D" INLET	EA	22.00	\$1,900.00	\$41,800 00	\$1,989.58	\$43,770.76	\$1,968.75	\$43,312.50	\$1,850.00	\$40,700.00	\$2,150.00	\$47,300.00	\$2,500.00	\$55,000.00	\$1,650.00	\$36,300.00	\$1,850.00	\$40,700.00	\$2,700.00	\$59,400.00
58	0472	STANDARD TYPE "E" INLET	EA EA	2.00	\$1,600.00 \$2,100.00	\$1,600 00 \$4,200 00	\$1,469.17 \$2,265.00	\$1,469.17 \$4,530.00	\$1,207.50 \$1,995.00	\$1,207.50 \$3,990.00	\$1,350.00 \$2,175.00	\$1,350.00 \$4,350.00	\$1,850.00 \$2,625.00	\$1,850.00 \$5,250.00	\$1,500.00 \$1,500.00	\$1,500.00 \$3,000.00	\$1,370.00 \$1,100.00	\$1,370.00 \$2,200.00	\$1,500.00 \$2,400.00	\$1,500.00 \$4,800.00	\$2,000.00	\$2,000.00
59	0472	TYPE "E" INLET W/ ADDITIONAL DEPTH UP TO 5'	EA	2.00	\$3,500.00	\$7,000.00	\$3,550.00	\$7,100.00	\$3,150.00	\$6,300 00	\$3,900.00	\$7,800.00	\$3,600,00	\$7,200 00	\$1,500.00	\$3,000.00	\$1,400.00	\$2,800.00	\$4,000.00	\$8,000.00	\$3,000.00	\$6,000.00
60	0491 0563	REINFORCED CONCRETE SLOPE PAVING - 5" THICK CONNECT TO EXISTING MANHOLE OR PIPE	SY EA	950.00	\$60.00	\$57,000.00	\$52.08	\$49,476.00	\$47.25	\$44.887.50	\$46.00	\$43,700.00	\$63.00	\$59,850.00	\$50.00	\$47,500.00	\$54.00	\$51,300.00	\$38.00	\$36,100.00	\$50.00	\$47,500 00
62	0563	CCTV INSPECTION OF STORM SEWER SYSTEM	LS	1.00	\$500.00 \$17,000.00	\$4,000.00 \$17,000.00	\$675.00 \$11,391.25	\$5,400.00 \$11,391.25	\$525.00 \$14,673.75	\$4,200.00 \$14,673.75	\$750.00 \$5,000.00	\$6,000.00	\$750.00 \$14,500.00	\$6,000.00 \$14,500.00	\$500.00 \$2,000.00	\$4,000.00 \$2,000.00	\$475,00 \$6,000.00	\$3,800.00 \$6,000.00	\$350.00 \$17,000.00	\$2,800.00 \$17,000.00	\$1,100.00	\$8,800.00
05071011		SUBTOTAL FOR SECTION 3 - STORM WATER	RDRAINA	GE SYSTEM	12.71.22	\$393,967.00		\$403,483.07	- 1	\$383,099.19	\$5,000.00	\$384,129.75	\$14,500.00	\$443,291.00	\$2,000.00	\$443,757.00	\$0,000.00	\$395,892.00	\$17,000.00	\$428,470.30	38,000.00	\$460,122.50
63	DRAWINGS	IBUTION SYSTEM CONNECT TO EXISTING WATER LINE, TS&V W/ BOX, ALL	EA	1.00	\$1,500.00	\$1,500.00	\$6,025.00	\$6,025.00	\$5,775.00	\$5,775 00	ĆC 100 00	\$6,100.00	¢c 200 00	\$6.200.00	¢r 000 00	SE 000 00	CF 000 00	\$6,000,00	62.600.00	63 600 00	640,000,00	642 000 00
64	DRAWINGS	SIZES COORDINATE WITH MUD DISTRICT REMOVE AND RELOCATE EXISTING WATER METER AND	VI. (0.000)								\$6,100.00		\$6,200.00	\$6,200.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$3,600.00	\$3,600.00	\$12,000.00	\$12,000.00
04	DRAWINGS	RECONNECT PIPE COORDINATE WITH MUD DISTRICT	EA	1.00	\$2,000.00	\$2,000 00	\$2,283.33	\$2,283.33	\$4,200.00	\$4,200.00	\$1,150.00	\$1,150.00	\$1,500.00	\$1,500 00	\$1,000.00	\$1,000.00	\$2,900.00	\$2,900.00	\$300.00	\$300.00	\$9,000.00	\$9,000.00
65	DRAWINGS	C900 DR18 PVC WATER LINE W/ RESTRAINED JOINTS, OPEN CUT - 12" DIAMETER ALL DEPTHS	LF	2,235.00	\$40.00	\$89,400 00	\$36.35	\$81,242.25	\$25.05	\$55,986.75	\$36.00	\$80,460.00	\$48.00	\$107,280.00	\$37.00	\$82,695.00	\$61.00	\$136,335.00	\$61.50	\$137,452.50	\$36.00	\$80,460.00
66	DRAWINGS	C900 DR18 PVC WATER LINE W/ RESTRAINED JOINTS, IN STEEL CASING - 12" DIAMETER ALL DEPTHS	LF	200.00	\$50.00	\$10,000.00	\$54.44	\$10,888.00	\$38.33	\$7,666.00	\$57.00	\$11,400.00	\$68.00	\$13,600 00	\$125.00	\$25,000.00	\$58.00	\$11,600 00	\$64.00	\$12,800.00	\$65.00	\$13,000.00
67	DRAWINGS	STEEL CASING, JACK AND BORE - 18" DIAMETER ALL DEPTHS	LF	200.00	\$100.00	\$20,000.00	\$107.28	\$21,456.00	\$81.85	\$16,370.00	\$88.00	\$17,600.00	\$152.00	\$30,400.00	\$30.00	\$6,000 00	\$100.00	\$20,000.00	\$113.50	\$22,700.00	\$170.00	\$34,000.00
68	DRAWINGS	GATE VALVE W/ BOX - 12" ALL DEPTHS	EA	1.00	\$1,200.00	\$1,200.00	\$2,644.27	\$2,644.27	\$2,032,80	\$2,032.80	\$2,200.00	\$2,200.00	\$3,700.00	\$3,700.00	\$2,500,00	\$2,500.00	\$2,640.00	\$2,640.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500 00
69	DRAWINGS	FIRE HYDRANT W/ VALVE - 12" ALL DEPTHS	EA	1.00	\$2,500.00	\$2,500.00	\$3,819.95	\$3,819.95	\$3,209.85	\$3,209.85	\$3,150.00	\$3,150.00	\$5,100.00	\$5,100.00	\$4,000.00	\$4,000.00	\$2,460.00	\$2,460.00	\$3,000.00	\$3,000.00	\$4,000.00	\$4,000.00
SECTION S	- WASTE WATE	SUBTOTAL FOR SECTION 4 - WATER DIS R COLLECTION SYSTEM	STRIBUTI	ION SYSTEM	L.	\$126,600.00		\$128,358.80		\$95,240.40		\$122,060.00		\$167,780.00		\$126,195.00	1	\$180,935.00		\$181,852.50	I	\$154,960.00
70	DRAWINGS	CONNECT TO EXISTING MANHOLE COORDINATE WITH MUD DISTRICT	EA	1.00	\$1,200.00	\$1,200.00	\$1,510.00	\$1,510.00	\$1,050.00	\$1,050 00	\$2,050.00	\$2,050.00	\$1,430.00	\$1,430.00	\$1,500.00	\$1,500.00	\$2,600.00	\$2,600 00	\$350.00	\$350.00	\$2,200.00	\$2,200.00
71	DRAWINGS	SANITARY SEWER DISCHARGE MANHOLE ALL DEPTHS	EA	1.00	\$2,500.00	\$2,500.00	\$4,425.00	\$4,425 00	\$5,775.00	\$5,775.00	\$3,500.00	\$3,500 00	\$4,000.00	\$4,000.00	\$5,000.00	\$5,000.00	\$4,475.00	\$4,475.00	\$2,200.00	\$2,200.00	\$10,000.00	\$10,000.00
72		ITEM DELETED			\$0.00	\$0.00	\$0.00	\$0.00		\$0.00		\$0.00		\$0.00	-	\$0.00		\$0.00		\$0.00		\$0.00
73	DRAWINGS	CONNECT TO EXISTING SANITARY SEWER FORCE MAIN FORCE MAIN SHALL NOT BE IN SERVICE	EA	1,00	\$1,000.00	\$1,000.00	\$1,070.00	\$1,070.00	\$1,260.00	\$1,260.00	\$300.00	\$300.00	\$1,650.00	\$1,650 00	\$1,000.00	\$1,000 00	\$3,400.00	\$3,400.00	\$300.00	\$300.00	\$1,200.00	\$1,200.00
74	DRAWINGS	CUT PLUG AND ABANDON EXISTING SANITARY SEWER FORCE MAIN PLUG WATER TIGHT ON BOTH ENDS AND	LF	500.00	\$12.00	\$6,000.00	\$8.45	\$4,225 00	\$7.35	\$3,675.00	\$7.50	\$3,750.00	\$10.50	\$5,250.00	\$10.00	\$5,000 00	\$9.50	\$4,750.00	\$5.60	\$2,800.00	\$7.00	\$3,500.00
75	DRAWINGS	FILL WITH FLOWABLE FILL C900 DR18 PVC SANITARY SEWER FORCE MAIN W/ RESTRAINED JOINTS, OPEN CUT, PIPE SHALL BE GREEN IN COLOR - 6" DIAMETER ALL DEPTHS	LF	2,335.00	\$16.00	\$37,360 00	\$18.78	\$43,851.30	\$12.34	\$28,813.90	\$18.00	\$42,030.00	\$26.00	\$60,710.00	\$25.00	\$58,375.00	\$34.00	\$79,390.00	\$31.30	\$73,085.50	\$28.00	\$65,380 00
76	DRAWINGS	C900 DR18 PVC SANITARY SEWER FORCE MAIN W/ RESTRAINED JOINTS, IN STEEL CASING, PIPE SHALL BE GREEN IN COLOR - 6" DIAMETER ALL DEPTHS	LF	100.00	\$22.00	\$2,200 00	\$26.51	\$2,651.00	\$16.54	\$1,654.00	\$28.00	\$2,800.00	\$35.00	\$3,500.00	\$50.00	\$5,000 00	\$28.00	\$2,800.00	\$26.50	\$2,650 00	\$55.00	\$5,500 00
77	DRAWINGS	STEEL CASING, JACK AND BORE - 12" DIAMETER ALL DEPTHS	LF	100.00	\$80.00	\$8,000.00	\$78.45	\$7,845.00	\$69.35	\$6,935.00	\$59.00	\$5,900.00	\$107.00	\$10,700.00	\$40,00	\$4,000.00	\$87.00	\$8,700.00	\$80.00	\$8,000.00	\$125.00	\$12,500 00
		SUBTOTAL FOR SECTION 5 - WASTE WATER C	OLLECTI	ON SYSTEM		\$58,260.00		\$65,577.30		\$49,162.90		\$60,330.00		\$87,240.00		\$79,875.00		\$106,115.00		\$89,385.50		\$100,280.00
78	- SIGNAGE AND 0624	PAVEMENT MARKINGS ALUMINUM SIGNS (GROUND MOUNTED) - FURNISH &	EA	145.00	\$200.00	\$29,000.00	\$108.33	\$15,707.85	\$105.00	\$15.225.00	£140.00	\$15,050,00	4440.00	515.050.00	4400.00	£14 £00 00	4455.00	622 475 00	64.50.00	622 200 00		625.075.00
79	0646	INSTALL INCLUSIVE OF STREET NAME SIGNS ROADSIDE TRAFFIC SIGN SUPPORT - FURNISH & INSTALL				7.00			***************************************	\$15,225.00	\$110.00	\$15,950.00	\$110.00	\$15,950.00	\$100.00	\$14,500.00	\$155.00	\$22,475.00	\$160.00	\$23,200.00	\$175.00	\$25,375.00
10.000				60.00	\$120.00	\$7,200.00	\$135.75	\$8,145 00	\$131,25	\$7,875.00	\$138,00	\$8,280.00	\$138.00	\$8.280.00	\$125.00	\$7,500.00	\$244.00	\$14,640.00	\$251.00	\$15,060 00	\$275.00	\$16,500.00
80	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), 4" WHITE/SOLID - FURNISH AND APPLY	LF	2,125.00	\$0.60	\$1,275.00	\$0.46	\$977.50	\$0.42	\$892.50	\$0.45	\$956.25	\$0.50	\$1,062.50	\$0.50	\$1,062.50	\$0.50	\$1,062.50	\$0.50	\$1,062.50	\$0.60	\$1,275 00
81	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), 8" WHITE/SOLID - FURNISH AND APPLY	LF	2,140.00	\$1.10	\$2,354.00	\$0.91	\$1,947.40	\$0.84	\$1,797.60	\$0.90	\$1,926.00	\$1.00	\$2,140.00	\$1.00	\$2,140.00	\$1.00	\$2,140.00	\$1.00	\$2,140.00	\$1.50	\$3,210.00
82	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), 24" WHITE/SOLID - FURNISH AND APPLY	LF	8,315.00	\$5.00	\$41,575.00	\$4.33	\$36,003.95	\$4.20	\$34,923.00	\$4.40	\$36,586.00	\$4.40	\$36,586.00	\$4.50	\$37,417.50	\$5,60	\$46.564.00	\$5.70	\$47,395.50	\$7.00	\$58,205 00
83	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), 4" YELLOW/SOLID - FURNISH AND APPLY	LF	4,150.00	\$0.60	\$2,490 00	\$0.46	\$1,909.00	\$0.42	\$1,743 00	\$0,45	\$1,867.50	\$0.50	\$2,075.00	\$0.50	\$2,075.00	\$0.50	\$2,075.00	\$0.50	\$2,075.00	\$0.60	\$2,490 00
84	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), 24" YELLOW/SOLID - FURNISH AND APPLY	LF	940.00	\$5.00	\$4,700.00	\$4.37	\$4,107.80	\$4.20	\$3,948 00	\$4.40	\$4.136 00	\$4.50	\$4,230.00	\$4.50	\$4,230 00	\$5.45	\$5,123 00	\$5.60	\$5,264.00	\$7.00	\$6,580 00
85	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), 4" WHITE/DASHED - FURNISH AND APPLY	LF	13,000.00	\$0.60	\$7,800 00	\$0.44	\$5,720.00	\$0.42	\$5,460.00	\$0.45	\$5,850.00	\$0.45	\$5,850 00	\$0.50	\$6,500.00	\$0.50	\$6,500.00	\$0.50	\$6,500.00	\$0.60	\$7,800 00
86	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), SINGLE ARROW (LEFT) - FURNISH AND APPLY	EA	13.00	\$150.00	\$1.950 00	\$108.33	\$1,408.29	\$105.00	\$1,365.00	\$110.00	\$1,430.00	\$110.00	\$1,430 00	\$125.00	\$1,625 00	\$133.50	\$1,735.50	\$137.00	\$1,781.00	\$150.00	\$1,950.00
87	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), SINGLE ARROW (RIGHT) - FURNISH AND APPLY	EA	2.00	\$150.00	\$300 00	\$108.33	\$216 66	\$105.00	\$210 00	\$110.00	\$220.00	\$110.00	\$220.00	\$125.00	\$250.00	\$133.50	\$267.00	\$137.00	\$274 00	\$150.00	\$300.00
88	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), SINGLE ARROW (STRAIGHT) - FURNISH AND APPLY	EA	1.00	\$150.00	\$150.00	\$108.33	\$108.33	\$105.00	\$105.00	\$110.00	\$110.00	\$110.00	\$110 00	\$125.00	\$125.00	\$133.50	\$133.50	\$137.00	\$137.00	\$150.00	\$150.00
89	0660	REFLECTORIZED PAVEMENT MARKINGS, TYPE I (THERMOPLASTIC), WORD "ONLY" - FURNISH AND APPLY	EA	16.00	\$250.00	\$4,000 00	\$108.33	\$1,733.28	\$105.00	\$1,680.00	\$110.00	\$1,760.00	\$110.00	\$1.760 00	\$125.00	\$2,000 00	\$144.00	\$2,304.00	\$148.00	\$2,368.00	\$150.00	\$2,400 00
90		REFLECTORIZED PAVEMENT MARKINGS, TYPE II, 12" YELLOW/SOLID FOR 6" CURB PER DETAILS - FURNISH AND APPLY	LF	1,900.00	\$2.00	\$3,800.00	\$1.08	\$2,052 00	\$1.05	\$1,995 00	\$1.10	\$2,090 00	\$1.10	\$2,090.00	\$1.20	\$2,280.00	\$1.20	\$2,280.00	\$1.30	\$2,470.00	\$1.50	\$2.850.00
91		REFLECTORIZED PAVEMENT MARKERS, TYPE II-A-A - FURNISH AND INSTALL	EA	470.00	\$4.00	\$1,880.00	\$3.25	\$1,527.50	\$3.15	\$1,480.50	\$3.30	\$1,551.00	\$3.30	\$1,551.00	\$4.00	\$1,880 00	\$3.70	\$1,739 00	\$3.80	\$1,786.00	\$4.00	\$1,880 00

BID TABLUATION

FALCON LANDING BLVD. FROM SPRING GREEN TO GASTON RD., GASTON RD. FROM FALCON LANDING BLVD TO 3,600 LF NORTH OF FALCON LANDING BLVD. AND GREENBUSCH FROM GASTON RD. TO 3,100 LF EAST OF GASTON RD. Project Name:

FBC Mobility Project: 703 FBC Bid No.: 12-062 Bid Opening Date: 09/20/12

					Engineer's	ineer's Estimate Avg of Three Low Bidders		Allgood Construction Company, Inc.						Menade, Inc.		Metro City construction, L.P.		SER Construction Partners, LLC				
BID ITEM					Bid Total =	\$4,172,353.50	Bid Total =	\$3,966,704.00	Bid Total =	\$3,859,328.89	Bid Total =	\$3,899,299.00	Bid Total =	\$4,142,095.50	Bid Total =	\$4,139,094.50	Bid Total =	\$4,487,503.50	Bid Total =	\$4,624,291.30	Bid Total =	\$4,991,611.88
NO	SPECTIEM NO	DESCRIPTION		QUANTIY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
92	0660	REFLECTORIZED PAVEMENT MARKERS, TYPE II-C-R - FURNISH AND INSTALL	EA	540.00	\$4.00	\$2,160.00	\$3.25	\$1,755 00	\$3.15	\$1,701.00	\$3,30	\$1,782.00	\$3.30	\$1,782.00	\$4.00	\$2,160.00	\$3.70	\$1,998 00	\$3.80	\$2,052.00	\$4.00	\$2,160 00
93	0660	NON-REFLECTORIZED CERAMIC TRAFFIC BUTTONS (WHITE) - FURNISH AND INSTALL	EA	215.00	\$4.00	\$860 00	\$3.25	\$698.75	\$3.15	\$677.25	\$3.30	\$709.50	\$3.30	\$709.50	\$4.00	\$860.00	\$3.60	\$774.00	\$3.60	\$774 00	\$4.00	\$860 00
94	0660	NON-REFLECTORIZED CERAMIC TRAFFIC BUTTONS	EA	470.00	\$4.00	\$1,880.00	\$3.25	\$1,527.50	\$3.15	\$1,480.50	\$3.30	\$1,551.00	\$3.30	\$1,551.00	\$4.00	\$1,880.00	\$3.60	\$1,692.00	\$3.60	\$1,692.00	\$4.00	\$1,880.00
95	0660	(YELLOW) - FURNISH AND INSTALL PERMANENT TYPE III BARRICADES - FURNISH AND	EA	8.00	\$900.00	\$7,200.00	\$921.17	\$7.369.36	\$892.50	\$7,140.00	\$936.00	\$7,488.00	\$935.00	\$7,480.00	\$900.00	\$7,200.00	\$1,000.00	\$8,000.00	\$900.00	\$7,200.00	\$900.00	\$7,200 00
96	0660	INSTALL INSTALLATION OF SOLAR POWERED SCHOOL ZONE	EA	6.00				\$10,155.00	\$1,627.50	\$9,765.00		\$10,200.00	\$1,750.00	\$10,500.00	\$1,000.00	\$6,000 00	\$9,500.00	\$57,000.00	\$1,800.00	\$10,800.00	\$9,000.00	\$54,000.00
"		FLASHER ASSEMBLY PER FORT BEND COUNTY		0.00	\$2,000.00	\$12,000.00	\$1,692.50	\$10,155.00	01,027.50	\$3,703.00	\$1,700.00	010,200.00	\$1,750,00	0,000,000	\$1,000.00	40,000,00	\$3,500.00		\$1,000.00		\$3,000.00	
97	0660	REQUIREMENTS FURNISH SOLAR POWERED SCHOOL ZONE FLASHER	EA	6.00	\$8,500.00	\$51,000 00	\$7,478.33	\$44,869.98	\$7,035.00	\$42,210.00	\$7,400.00	\$44,400.00	\$8,000.00	\$48,000 00	\$1,000.00	\$6,000.00	\$9,500.00	\$57,000 00	\$7,638.00	\$45,828 00	\$9,000.00	\$54,000 00
		ASSEMBLY PER FORT BEND COUNTY REQUIREMENTS SUBTOTAL FOR SECTION 6 - SIGNAGE AND PA	VEMENT	MARKINGS		\$183,574.00		\$147,940.15		\$141,673.35		\$148,843.25		\$153,357.00		\$107,685.00		\$235,502.50		\$179,859.00		\$251,065.00
SECTION	7 - STORM WATER	POLLUTION PREVENTION PLAN	VENIEN	MARKINGS		\$183,574.00	L	\$147,540.15		\$141,073.33		\$140,040.20		\$100,001.00		\$101,000.00		4200,002.00				4201/000100
98	0700	TPDES GENERAL PERMIT NO. TXR 150000, NOTICE OF INTENT (NOI) APPLICATION FEES	EA	2.00	\$325.00	\$650 00	\$325.00	\$650.00	\$325.00	\$650.00	\$325.00	\$650 00	\$325.00	\$650.00	\$325.00	\$650.00	\$325.00	\$650 00	\$325.00	\$650.00	\$325.00	\$650.00
99		SWPPP INSPECTION AND MAINTENANCE	MONTH	9.00	\$800.00	\$7,200 00	\$800.00	\$7,200.00	\$800.00	\$7,200.00	\$800.00	\$7,200.00	\$800.00	\$7,200.00	\$800.00	\$7,200.00	\$800.00	\$7,200.00	\$800,00	\$7,200.00	\$1,000.00	\$9,000 00
100	0162	SODDING FOR EROSION CONTROL AND STABILIZATION 18" WIDE STRIP	LF	25,375.00	\$3.00	\$76,125.00	\$1.40	\$35,525 00	\$2.71	\$68,766.25	\$0.75	\$19,031.25	\$0.75	\$19,031.25	\$0.40	\$10,150.00	\$0.70	\$17,762.50	\$1.00	\$25,375.00	\$0.70	\$17,762.50
101		HYDRO-MULCH SEEDING	STA	97.50	\$600.00	\$58,500.00	\$223.00	\$21,742.50	\$210.00	\$20,475.00	\$234.00	\$22,815.00	\$225.00		\$237.00	\$23,107.50	\$125.00	\$12,187.50	\$75.00	\$7,312.50	\$1,236.25	\$120,534.38
102		REINFORCED FILTER FABRIC BARRIER (60% OF UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF	LF	25,375.00	\$2.00	\$50,750.00	\$1.40	\$35,525.00	\$1.31	\$33,241.25	\$1.50	\$38,062 50	\$1.40	\$35,525.00	\$1.20	\$30,450.00	\$2.00	\$50.750.00	\$1.40	\$35,525.00	\$1.50	\$38,062 50
103	0719	UNIT COST FOR REMOVAL) INLET PROTECTION BARRIER (STAGE 1 W/ REINFORCED	EA	30.00	\$100.00	\$3,000.00	\$59.08	\$1,772.40	\$47.25	\$1,417.50	\$55.00	\$1,650.00	\$75.00	\$2,250 00	\$10.00	\$300.00	\$45.00	\$1,350.00	\$100.00	\$3,000 00	\$70.00	\$2,100.00
		FILTER FABRIC FENCE; 60% OF UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF UNIT COST FOR REMOVAL)		00.00	3100.00	00,000.00	\$66.65	3.11.12.10	V20		\$35.00	J. 1658-1455	,,,,,,,				*20.00			200000000	*****	
104	SS 0741	INLET PROTECTION BARRIER (STAGE 2 W/ REINFORCED FILTER FABRIC FENCE; 60% OF UNIT COST FOR FURNISH	EA	30.00	\$100.00	\$3.000.00	\$57.33	\$1,719.90	\$42.00	\$1,260.00	\$55.00	\$1,650.00	\$75.00	\$2,250 00	\$10.00	\$300.00	\$45,00	\$1,350.00	\$80.00	\$2,400 00	\$70.00	\$2,100.00
105		AND INSTALLATION AND 40% OF UNIT COST FOR REMOVAL) STABILIZED CONSTRUCTION ACCESS (TYPE 1-ROCK; 60%)	SY	250.00	\$16.00	\$4,000 00	\$16.52	\$4,130 00	\$11.55	\$2,887.50	\$22.00	\$5,500 00	\$16.00	\$4,000.00	\$1.00	\$250.00	\$12.00	\$3,000.00	\$25.00	\$6,250.00	\$20.00	\$5,000 00
		OF UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF UNIT COST FOR REMOVAL)			\$10.00		- 10.00	15041-55000	,,,,,,,		722.00	\$ 140 CACCA			,		*-2				,	200000000000000000000000000000000000000
106	0730	CONCRETE TRUCK WASHOUT STRUCTURE (60% OF UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF UNIT COST FOR REMOVAL)	EA	2.00	\$1,000.00	\$2,000.00	\$720.00	\$1,440.00	\$840.00	\$1,680 00	\$660.00	\$1,320 00	\$660.00	\$1,320 00	\$500.00	\$1,000 00	\$850.00	\$1,700 00	\$600.00	\$1,200.00	\$1,500.00	\$3,000.00
107	A-100-000-000-000-0	ROCK FILTER DAM - TYPE 1 (60% OF UNIT COST FOR FURNISH AND INSTALLATION AND 40% OF UNIT COST FOR REMOVAL)	EA	16.00	\$350.00	\$5,600.00	\$391.03	\$6,256 48	\$23.10	\$369.60	\$550.00	\$8,800 00	\$600.00	\$9,600 00	\$100.00	\$1,600.00	\$675.00	\$10,800 00	\$150.00	\$2,400.00	\$900.00	\$14,400.00
SECTION	TRAFFIC CONT	SUBTOTAL FOR SECTION 7 - STORM WATER POLLUTION ROL AND REGULATION DURING CONSTRUCTION	PREVE	NTION PLAN		\$210,825.00		\$115,961.28		\$137,947.10		\$106,678.75		\$103,763.75		\$75,007.50		\$106,750.00		\$91,312.50		\$212,609.38
108	SS 0671	FURNISH, INSTALL AND MAINTAIN TEMPORARY TRAFFIC CONTROL DEVICES PER THE PLANS AND THE REQUIREMENTS OF THE CURRENT EDITION OF THE MANUAL ON UNIFORM TRAFFIC CONTROL DEVICES	LS	1.00	\$80,000.00	\$80,000.00	\$79,725.00	\$79,725 00	\$3,675.00	\$3,675.00	\$2,500.00	\$2,500 00	\$233,000.00	\$233,000 00	\$10,000.00	\$10,000.00	\$4,300.00	\$4,300.00	\$3,500.00	\$3,500.00	\$30,000.00	\$30,000 00
109	SS 0671	MAINTAIN TEMPORARY TRAFFIC CONTROL DEVICES	MONTH	9.00	\$1,500.00	\$13,500.00	\$1,154.00	\$10,386.00	\$1,470.00	\$13,230.00	\$1,492.00	\$13,428.00	\$500.00		\$1,000.00	\$9,000.00	\$1,680.00	\$15,120.00	\$5,000.00	\$45,000.00	\$2,500.00	\$22,500.00
110		CONSTRUCTION DETOURS FOR TWO-WAY TRAFFIC, INSTALLATION, MAINTENANCE AND REMOVAL - 6" THICK BLACK BASE AS DIRECTED BY THE COUNTY ENGINEER	TON	1,570.00	\$85.00	\$133,450.00	\$81.67	\$128,221.90	\$84.00	\$131,880.00	\$74.00	\$116,180.00	\$87.00	\$136,590 00	\$50.00	\$78,500.00	\$97.00	\$152,290.00	\$111.00	\$174,270.00	\$100.00	\$157,000.00
111		CONSTRUCTION DETOURS FOR TWO-WAY TRAFFIC, INSTALLATION, MAINTENANCE AND REMOVAL - 2" THICK TRAFF "D" HMAC SURFACE AS DIRECTED BY THE COUNTY ENGINEER	TON	525.00	\$95.00	\$49,875.00	\$84.75	\$44,493.75	\$94.50	\$49,612.50	\$67.00	\$35,175 00	\$92.75	\$48,693.75	\$60,00	\$31,500 00	\$98.00	\$51,450.00	\$157.00	\$82,425.00	\$150.00	\$78,750.00
	SUBTOTAL FO	DR SECTION 8 - TRAFFIC CONTROL AND REGULATION DURI	ING CON	STRUCTION		\$276,825.00	*	\$262,826.65		\$198,397.50		\$167,283.00		\$422,783.75		\$129,000.00		\$223,160.00		\$305,195.00		\$288,250.00
SECTION 112	0130	FEMS BORROW - LOOSE TRUCKLOAD MEASURE AS APPROVED	CY	100.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10,00	\$1,000.00
	2002.500	BY THE ENGINEER		1,900,000,000				575 787 52 5 5 5 5 5		STATE OF THE STATE			***************************************			\$5.000 00			\$50.00	\$5,000.00	08.000.000.00	\$5,000.00
113		SEAL SLAB, CLASS D CONCRETE, 7" THICK AS APPROVED BY THE ENGINEER		100.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00		\$50.00		\$50.00			200120000000000000000000000000000000000	\$50.00	
114		CEMENT STABILIZED SAND, COMPLETE IN PLACE ALL THICKNESSES, AS APPROVED BY THE ENGINEER	TON	10.00	\$35.00	\$350.00	\$26.67	\$266.70	\$25.00	\$250.00	\$30.00	\$300.00	\$25.00		\$20.00	\$200.00	\$32.00		\$0.10	\$1.00	\$25.00	
115	433	WELL POINTING SYSTEM ALL DEPTHS, AS APPROVED BY THE ENGINEER	LF	500.00	\$15.00	\$7,500.00	\$15.00	\$7,500 00	\$15.00	\$7,500.00	\$15.00	\$7,500.00	\$15.00	\$7,500 00	\$15.00	\$7,500.00	\$28.00	\$14,000.00	\$15.00	\$7,500.00	\$15.00	\$7,500 00
116	0473	ADJUST EXISTING STRUCTURE INCLUSIVE OF MANHOLES, INLETS AND VALVE BOXES, AS APPROVED BY THE ENGINEER	EA	5.00	\$400.00	\$2,000 00	\$454.17	\$2,270.85	\$262.50	\$1,312.50	\$350.00	\$1,750.00	\$750.00	\$3,750.00	\$500.00	\$2,500.00	\$350.00	\$1,750 00	\$400.00	\$2,000.00	\$400.00	\$2,000.00
117	0493	RIPRAP - GRADATION 1 - 18" THICK INCLUSIVE OF GEOTEXTILE UNDER THE RIPRAP, AS APPROVED BY THE ENGINEER	SY	300.00	\$60.00	\$18,000.00	\$50.45	\$15.135.00	\$49.35	\$14,805.00	\$57.00	\$17,100 00	\$45.00		\$40.00	\$12,000.00	\$67.50		\$44.00	\$13,200 00	\$50.00	\$15,000.00
118		REMOVAL AND DISPOSAL OF EXISTING FENCES ALL KINDS, AS APPROVED BY THE ENGINEER	LF	100.00	\$5.00	\$500.00	\$5.42	\$542 00	\$5.25	\$525.00	\$3.00	\$300 00	\$8.00		\$5.00	\$500.00	\$3,00		\$6.50	\$650.00	\$5.00	\$500.00
119		UNIFORM PEACE OFFICER AS APPROVED BY THE ENGINEER	HOUR	400.00	\$25.00	\$10,000.00	\$34.33	\$13,732.00	\$25.00	\$10,000 00	\$40.00	\$16,000.00	\$38,00	\$15,200 00	\$30.00	\$12,000.00	\$48,00		\$28.50	\$11,400.00	\$40.00	\$16,000.00
		SUBTOTAL FOR SECTION 9 - E	EXTRA W	VORK ITEMS		\$44,350.00		\$45,446.55		\$40,392.50		\$48,950.00		\$47,000.00		\$40,700.00		\$61,820.00	410	\$40,751.00		\$47,250.00
SECTION 1 - SITE PREPARATION AND EARTHWORK					\$356,770.00		\$452,728.90		\$497,027.10		\$405,451.75		\$455,960.00		\$778,350.00		\$455,611.50		\$538,786.00		\$802,162.50	
	- SUBGRADE AND	D PAVING DRAINAGE SYSTEM				\$2,521,182.50		\$2,344,381.30 \$403,483.07		\$2,316,388.85 \$383,099.19		\$2,455,572.50 \$384,129.75		\$2,260,920.00 \$443,291.00		\$2,358,525.00 \$443,757.00		\$2,721,717.50 \$395,892.00		\$2,768,679.50 \$428,470.30		\$2,674,912.50 \$460,122.50
	- WATER DISTRIB					\$393,967.00 \$126,600.00		\$128,358.80		\$95,240.40		\$122,060.00		\$167,780.00		\$126,195.00		\$180,935.00		\$181,852.50		\$154,960.00
		COLLECTION SYSTEM				\$58,260.00		\$65,577.30 \$147.840.45		\$49,162.90		\$60,330.00 \$148,843.25		\$87,240.00 \$153,357.00		\$79,875.00 \$107,685.00		\$106,115.00 \$235,502.50		\$89,385.50 \$179,859.00		\$100,280.00 \$251,065.00
		PAVEMENT MARKINGS POLLUTION PREVENTION PLAN				\$183,574.00 \$210,825.00		\$147,940.15 \$115,961.28		\$141,673.35 \$137,947.10		\$148,843.25		\$103,763.75		\$75,007.50		\$106,750.00		\$91,312.50		\$212,609.38
SECTION 8	- TRAFFIC CONTR	ROL AND REGULATION DURING CONSTRUCTION				\$276,825.00		\$262,826.65		\$198,397.50		\$167,283.00		\$422,783.75		\$129,000.00		\$223,160.00 \$61,820.00		\$305,195.00 \$40,751.00		\$288,250.00 \$47,250.00
SECTIONS	- EXTRA WORK IT		AOUNT O	F BASE BID		\$44,350.00		\$45,446.55	-	\$40,392.50		\$48,950.00		\$47,000.00		\$40,700.00		\$01,820.00		340,751.00		\$47,250.00
		INCLUDES SECTION 1 THROUGH SECTION 9 BID ITEM 1	Charles Andrews		\$4,172,353.50		\$3,966,704.00		\$3,859,328.89		\$3,899,299.00		\$4,142,095.50		\$4,139,094.50		\$4,487,503.50		\$4,624,291.30		\$4,991,611.88	

Error in Calculations